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split chain

Head and Ear

R:6-3-6, clr, rw
CH: 6-6, rw

R: 6+(to last p of prev r)3-6, cl r, rw

CH: 6-6, rw

Repeat ring and chain 4 more times.

R: 6+(to last p of prev r)3+(to first p of first r made)6, cl r.
SC: 6/6(joining thread to base of first r)

CH: 6-6, rw

R: 6+(to p of first ch made in circle medallion)3-6, cl r, rw
CH: 6-6, rw

SR: 6+(to last p of prev r)3/6

CH: 6-6, shuttle join to p of next chain of medallion.

CH: 8-8, join to p of next chain of medallion.

CH: 3-3, rw

R:3-3,clr, rw

CH: 3-3-3, rw

R:6-6,clr, rw

CH: 3-3-3-3, rw

R:8-8,clr, rw

CH: 3-3-3-3-3-3-3-3, shuttle join to p of prev r

CH: 3-3, join to p of next r

CH: 3-3, join to p of next r

CH: 3-3, join to base of adj r of medallion.

Tie and work in ends.
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Supplies used in this sample:
DMC Cebelia cotton size 30
7mm pink varigated silk ribbon

Abbreviations:
R=ring CH=chain
SR=split ring SC=split chain

cl r=close ring rw=reverse work

Body Medallions

Make another medallion just like the head, with a total of 7
rings and chains. Tie and work in ends. The next medallion
will have 8 rings and chains.

R:6-3-6, clr, rw

CH: 6+(to p of first medallion)6, rw

R: 6+(to last p of prev r)3-6, cl r, rw

CH: 6+(to p of next ch of first medallion)6, rw

Repeat ring and chain 6 more times for a total of 8 rings
and chains. Bridging up to outer row, start with a split ring:
SR: 4/4, cl r,rw

R: 4+(to base of adj r of first medallion)4, cl r, rw

CH: 3-6, shuttle join to p of next chain

CH: 6-6, join to p of next chain

CH: 6, rw

R:4-4,clr, rw

CH: 6-8, join to p of last ring

CH: 6, join to p of next chain of medallion

CH: 8-8, join to p of next chain of medallion

CH: 6+(to p of second to last ch of head)6, shuttle join to p
of next chain of medallion of body, rw

CH: 6-86, join to p of third to last chain of head, rw

CH: 6-6, rw

Cloverleaf:

R: 6+(to p of adj ch)6-3, cl r

R: 3+(to last p of prev r)12+(to picot join of medallion)12-3,
clr

R: 3+(to last p of prev r)6+(to p of next chain of medallion)6,
clr, rw

CH: 6+(to p of last ch before cloverleaf)6-6, rw

R: 4+(to picot join of same ch of medallion)4, cl r, rw

CH: 6-6, rw

R: 3+(to p of next ch of medallion)3, cl r, rw

CH: 6-6, shuttle join to to p of next ch of medallion

CH: 6-1-1-1-1-1-1-1-1-1-1-1-1, join to p of next ch of
medallion

CH: 6-6, join to p of next ch

CH: 6-6, join to p of next ch

CH: 6+(to p of first ch of this outer row)3, join thread to base
of first ring made of this outer row

Tie and work in ends.

Tie silk ribbon in a bow around the neck area.



